Sample solutions to the 2023 VCAA NHT papers

Specialist Mathematics Examination 2

Question 4
Ifz=a+ bi, where a, b € Rand a> b >0, then Arg(z+iZ) is equal to
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Mathematical Methods Examination 2

Question 3

The function f(x) = v/3 —2x — x? is strictly decreasing over the domain
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Further Mathematics Examination 1

Question 23
Mo invested $10000 into an account that earns interest, compounding fortnightly. The balance, in dollars,
after n fortnights, M, , can be modelled by the recurrence relation shown below.

M, =10000 M, =1.001M,
The effective annual rate of interest for Mo’s investment is closest to
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